
Training Pre-Assessment Answer Key
	Purpose of the Training Pre-Assessment Key

	The purpose of this training pre-assessment key is to help instructors quickly grade the answers turned in by students to the pre-assessment questions. 
The answers should be used to help instructors focus the training on the areas in which students’ answers demonstrate less knowledge.
Instructors should provide correct answers to the questions at appropriate points during the NEAT MHEA Weatherization Assistant training.



Questions: Knowledge and Experience with the Weatherization Assistant
1. How many years of experience do you have in the use of the Weatherization Assistant?

2. Please describe your prior experience in using the Weatherization Assistant, including the kinds of audits you have conducted.
	Have you ever set up the following in the Weatherization Assistant?
	Yes
	No
	Please describe any issues experienced

	your Agency
	
	
	

	yourself up as an Auditor
	
	
	

	a Supply Library
	
	
	

	a Set Up Library
	
	
	

	A Client
	
	
	

	
	
	
	

	
	
	
	


3. What is the purpose of the Supply Library? What is a key item you should check on the Supply Library menu with respect to the name of your agency?

Answer: The supply library is used to track commonly used materials, track inventory, and allow easy and consistent input into the NEAT audit.

4. Name several key pieces of information contained in the set up library.
Answer: Key pieces of information include fuel prices, measure lifetimes, discount rate, measure costs, and active measures.
5. What is the purpose of the Fuel Cost Library? Describe a situation in which you might need more than one.
Answer: The purpose of the Fuel Cost Library is to input local fuel prices including natural gas, fuel oil, electricity, propane, wood, coal, kerosene, and other. If prices vary significantly from different fuel providers, multiple libraries should be made to ensure accurate measure savings.
6. If you have been using a previous version of the Weatherization Assistant, how can you transfer the measure costs in it to the NEAT MHEA Weatherization Assistant 8.9?  
Answer: This can be done through the data link feature of NEAT MHEA which is found on the landing page.
7. What is the button you should select to run the audit?  Where is it located?

Answer: In order to run an audit, you must click on the “Run Audit” button. This button is found on the upper left of every NEAT MHEA input screen.
8. What reports are available to you after the audit is run?
Answer:  There are five reports available after the audit is run. They include the Recommended Measures Report, the Input Report, the Heating System Summary Report, the Pressure Diagnostics Report, and the Health and Safety Summary. The most important of these reports is the Recommended Measures Report.
9. What happens if you enter a numerical value outside of “acceptable values”?  How do you correct your entry?

Answer: A message will be displayed warning you that you have input an invalid number and it must be changed. If this occurs, simply change the value to be above or below the listed threshold that appears in the error message. NEAT MHEA will also display “warning” messages. These are used to let the auditor know the input number falls outside what is considered normal. The audit will still run if the number is not changed.
10. When an audit is first initiated, the Weatherization Assistant assigns a default name of Audit (#) for you to rename.  What should you consider when creating the new name for the audit?
Answer: It is a good practice to change the Audit Name to something that is directly relatable to the client like the street address or first and last name of the client.
11. List the types of recommendations that can be found in the Energy Saving Measure Economics portion of the Recommended Measures Report.

Answer: Several of the 45 possible measures will appear in the report listed in order of their individual SIRs. Other information will include total cost of each measure and total annual dollars of energy saved.
12. What is the purpose of the codes entered for walls, windows, doors, attics, foundations, and air conditioning?

Answer: The purpose of codes for components is to allow both the auditor and the program to keep track of individual pieces of the building. Codes should be consistent and recognizable to the auditor. Some examples are Wall1, Wall2, WallN, WallE, etc.
13. What are two reasons for separately entering a single wall as two walls in the Shell section Weatherization Assistant?
Answer: A single wall should be entered separately in NEAT if there is differing levels of insulation in the wall or the wall is built out of differing construction materials. This can often occur if an addition has been added onto the home.
14. Why must you be careful when adding or averaging window dimensions?  What can happen to the SIR results for window treatment measures?

Answer: When averaging anything in NEAT, you must be aware of how it will change the energy use of the home. Window U-values should not be averaged. If this occurs, you could significantly increase or decrease the savings of the windows.
15. How does the Weatherization Assistant calculate heat loss from a wall with a door in it?  What is the danger of not entering the door area when NEAT MHEA recommends wall insulation?

Answer: In NEAT MHEA, the gross square footage of walls is entered instead of net square footage. All doors entered into NEAT MHEA are then subtracted out of the wall by the program. If a door is not described, NEAT MHEA will not do this which will cause an incorrect heat load to be calculated. NEAT MHEA may also recommend installed insulation in the area where a door exists if it is not described.
16. What are three reasons for separately entering unfinished attics in the Shell section of the Weatherization Assistant? 
Answer: Attics should be entered separately if they have different levels of insulation, different insulation materials, or the auditor is trying to treat different parts of the attic serperately.
17. What is the advantage of choosing to add insulation to the floor, sill, and foundation wall when selecting the evaluation options available for foundation insulation in the Weatherization Assistant?
Answer: When this is done, NEAT MHEA will recommend the most cost effective group of treatment options.
18.  If more than one type of heating system exists in the client’s house, which one should be identified in the Weatherization Assistant as the primary heating system?  
Answer: The most frequently used heating system should be entered as the primary system.
19. What are the 3 parameters to be entered on the heating systems sub menu? From which parameters does the Weatherization Assistant calculate the default efficiency?
Answer: Output Capacity, Steady State Efficiency, and Condition. If steady state efficiency is unavailable, it can be calculated if both and input and output are entered.
20. Where in the Weatherization Assistant is the option for measurement of duct and infiltration data?
Answer: In the Ducts/Infiltration tab.
21. If you wish to rerun an audit with different data, how do you save the first set of recommendations from being overwritten by the Weatherization Assistant?

Answer: You can make a separate copy of the audit by using the copy function in the bottom left hand corner of the “Audit Information” tab.
22. Where do you go to find, copy, delete, or navigate to other existing audits?
Answer: You can find, copy, delete, or navigate by using the navigation box in the bottom left hand corner of the “Audit Information” tab.

23. To which tab do you navigate to create a work order?

Answer: In the measures tab, there is a “create work order” button in the bottom right hand corner.
24. What is the minimum number of walls you need to enter to run a NEAT audit? What is an appropriate situation to use the minimum number of walls?

Answer: One wall is necessary to run NEAT. An appropriate situation to use this would be modeling an interior apartment where only one wall is exposed to the exterior. 
Building Science Knowledge 

1. The types of foundation systems that commonly experience outside temperatures throughout the year are: (Circle all that apply.) 

A. Below grade basement

B. Pier and beam foundation

C. Vented crawl space

D. Slab on grade

B & C are correct because they are generally outside the thermal boundary and experience outside temperatures throughout the year.

A & D are incorrect because these areas do not normally experience outside temperatures throughout the year. A below grade basement is enclosed and coupled to the home. A slab on grade is also coupled to the home and not exposed to the outside temperatures except at the edges.

2. Balloon framing can be detected by the presence of: 

A. Open topped wall stud bays in an attic.

B. Double top plated partition walls.

C. Sill plates. 

A is correct because with balloon framing the wall studs run continuously from the basement to the attic with no top plate.

B & C are incorrect because those features are associated with platform framing.

3. The characteristics of platform framing include: 

A. Long, vertical framing for exterior walls.

B. Floor joists fastened to ledger boards.

C. Wall framing capped with top plates.

C is correct. This is a characteristic of platform framing. 

A & B are incorrect because these are characteristics of balloon framing, not platform framing.

4. An example of a major air leak associated with platform-framed construction is:
A. Dropped ceiling over a closet with open topped wall studs.

B. Leaks around windows and doors.

C. Kitchen cabinet bulkhead open to the attic.

C is correct because this is a feature often found in older platform-framed homes.
A is incorrect because open topped stud walls are associated with balloon framing; B is also incorrect because leaks associated with windows and doors are generally minor and unrelated to framing type.
5. Why are platform framed houses less likely than balloon framed houses to have vertical air leakage?
A. Fewer vertical pathways

B. No plumbing chaseways

C. Less knob and tube wiring

A is correct because top plates used in construction block vertical pathways.

B is incorrect because plumbing chaseways are common in both types of construction; C is incorrect because it does not explain the reduction of vertical air leakage.

6. Which of the following is not a step for the installation of an in-jamb replacement window?

A. Score all painted joints with a sharp utility knife.

B. Remove all interior and exterior window trim.

C. Seal the perimeter with low expanding foam.

B is correct because only the window sash and interior window stops need to be removed.

A is incorrect because scoring the paint is an appropriate step to prevent the trim from splitting when removing with a pry bar; C is incorrect because applying sealant will prevent air infiltration and should be considered part of window replacement.
7.  Frost forming on the underside of roof sheathing in an attic on a cold winter day is most likely caused by:

A. A roof leak.
B. Ice damming.
C. Condensation.

C is correct because small holes in the attic floor at pipes, wires, or chimney chases allow heated air from the living space to enter the attic. The entering air will be relatively warmer than cold attic surfaces and condensation may occur.
A is incorrect because a roof leak will show evidence of water in a liquid state that can be traced to roofing material or flashing detail; B is incorrect because evidence of ice damming occurs on the roof eaves and will likely show as water damage caused by liquid water on the ceiling in the interior of the house. 
8. The proper material for sealing around an active chimney is:
A. Cardboard and polyurethane foam sealant.
B. Metal dam and high temperature caulk.

C. Rigid foam and acrylic caulk.
B is correct because it meets code.
A & C are incorrect because they violate fire code and are fire hazards. 

9. Each of the following can have a negative effect on indoor air quality except:

A. Back drafting of natural draft combustion appliances.

B. Moisture being trapped in the living space causing mold.

C. Dry rot of structural framing members.

C is correct because dry rot affects wood framing members and does not significantly impact IAQ. 
A is incorrect because exhaust fans can exert a greater pressure difference on a tighter home than on a leaky home and cause backdrafting of natural draft appliances; B is incorrect because a tight home in combination with high moisture sources may create conditions that are conducive to mold growth.

10. Each of the following can have a negative effect on building durability except:

A. Leaky can lights into an insulated attic.
B. Balanced ventilation and natural draft appliances.

C. An unsealed chimneychase connecting the basement to the attic.
B is correct because a well-ventilated home with a balanced system should not cause problems with building durability.
A is incorrect because leaky recessed light fixtures increase heat loss and gain and can cause ice dams and moisture problems in the attic, both potentially reducing building durability; C is incorrect because the air leaking into the attic could cause ice dams and condensation. 

11. When observing large amounts of mold on the walls of a bedroom the auditor should: 

A. Inform the client of the health hazards associated with mold and defer weatherization work until the mold problems have been resolved.

B. Take no action.

C. Recommend minimal air sealing after obtaining a signed release from the client absolving the agency of any liability.
A is correct because mold remediation is beyond the scope of WAP, and the home cannot be weatherized until the issue has been safely addressed. Auditors must inform the client in writing of the observed hazards.
B is incorrect because, at the very least, the client must be notified of the unsafe conditions. There may be referral options and other funding sources available to clean up the mold. Weatherization may help eliminate conditions that cause mold through moisture management measures such as mechanical ventilation, providing drainage, sump, etc.; C is incorrect because air sealing the home will likely only exacerbate the mold problem.

12. List at least 10 components of an accurate visual assessment.
Answers can include any of the following listed in the table below:

	Exterior walk around
	Note the presence of unvented fossil fuel heaters.

	Slope of land
	Note the presence and operational condition of mechanical ventilation.

	Building type and framing
	Check for presence, thickness, condition and type of wall insulation.

	Foundation type and percent above grade
	Note the thermostat type and setting.

	Cardinal direction and orientation
	Determine if the fireplace has an operating damper or glass door.

	Dimensions
	Note the number and location of air registers.

	Siding type and condition
	Check for leaks around the window AC unit and whether a cover is available.

	Additions, porches, attached or tuck-under garages, cantilevers
	Note recessed light fixtures.

	Numbers, types, condition, and orientation of windows and doors
	Determine framing type (balloon, platform, plank, etc.).

	Roof type, covering, and condition
	Inspect interior wall cladding for damage or weakness.

	Chimneys exhaust vents, and possible safety problems
	Look for areas where insulation may spill (pocket doors, suspended ceilings, cabinets, closet spaces, etc.).

	Water management system issues (downspouts, flashing, grade, etc.)
	Conditioned or unconditioned basement or crawl space?

	Determination of conditioned vs. unconditioned space
	Combustion appliances and hot water tank

	Locate and identify building components of the pressure and thermal boundary based on how the client uses the interior spaces.
	Moisture problems, bulk water intrusion, and other IAQ issues

	Identify large air leaks such as broken glass, missing hatchway covers, large penetrations, broken ceilings, and damaged wall coverings.
	Major air bypasses and direct penetrations to the outside

	Note electrical or other hazards to occupants and weatherization workers.
	Ceiling, wall, and band joist insulation levels

	Note evidence and sources of moisture or indoor air quality (IAQ) problems.
	Tuck-under garages, coal bins, etc.

	Note the presence of lead-based paint.
	Condition and insulation levels of duct system

	Dryer venting
	Attic ventilation

	Electrical or other hazards to occupants and weatherization workers
	Ventilation of mechanical and plumbing terminations and whether they are vented to the outside

	Note whether band joist and mudsill are sealed or insulated.
	Knob and tube wiring and other electrical hazards

	Note the hot water tank thermostat set point.
	Other hazards such as vermiculite, vermin droppings, etc.

	Note insulation on tank and piping.
	Open wire splices

	Inspect furnace.
	Uncovered junction boxes

	Inspect foundation walls
	Frayed wire, etc.

	Existing insulation levels
	Evidence of condensation-based moisture problems or roof leaks

	Major air bypasses
	


13. Typical components of the thermal boundary include:
A. Attic hatch, ceiling tile, and insulation.

B. Ground vapor retarders, roof shingles, and siding.
C. Basement slab, soffit vents, and exterior walls of an unheated porch.
A is correct because the thermal boundary includes air barriers and insulation adjacent to the conditioned space. An effective thermal boundary is where the air barrier and insulation are in alignment.
B & C are incorrect because these building components are not adjacent to the conditioned space.
14. The type of heat transfer that does not require physical contact or a medium is:
A. Conduction.

B. Convection.

C. Radiation.

C is correct because radiation can transfer through a vacuum.

A is incorrect because conduction is the mode of transfer through a material; B is incorrect because convection is the mode of heat transfer through fluid (gas or liquid).
15. An example of an air leakage driving force caused by a temperature difference between the inside and outside of a home is:
A. Wind effect.
B. Stack effect.

C. Fan effect.
B is correct because stack effect is a function of temperature difference between inside and outside during the heating season.
A is incorrect because wind is a function of pressure difference caused by wind; C is incorrect because fan effect is a function of pressure difference caused by fans.
16. The air barrier in most homes is made up of the:
A. Roof deck.
B. Insulation blanket.
C. Drywall.

C is correct because the drywall is generally the primary surface that separates conditioned from unconditioned spaces. 

A is incorrect because the roof deck is most commonly adjacent to a cold attic; B is incorrect because the insulation blanket should be on the cold side of the air barrier.
17. A well-sealed air barrier plays a major role in: 

A. Insulating the thermal envelope and deadening sound.
B. Retarding the movement of heat and moisture through the building.

C. Providing a vapor retarder and retarding heat flow through the building.
B is correct because moisture vapor is carried by convective air currents, which account for the majority of heat loss in homes.
A is incorrect because insulation’s main function is to slow down heat transfer by conduction; C is incorrect because the function of a vapor retarder is to retard the flow of moisture by diffusion and this is not the major role of the air barrier.
18. Which of these is one of the principles of thermodynamics?

A. A body in motion tends to stay in motion.

B. Energy always goes from high to low.

C. E = mc2
B is correct because this is one of the principles of thermodynamics. The other is that energy moves from higher to lower, or more to less.
A is incorrect because this is Newton’s first law of motion, not a principle of thermodynamics; C is incorrect because this formula describes the mass/energy equivalence. It is not a principle of thermodynamics. 
19. Positive pressure in a room is most likely caused by which of these scenarios?

A. A clothes dryer vented into the crawlspace below the room

B. Unsealed ductwork running through interior walls

C. Closed, tight fitting door and supply vents 

C is correct because the room would be pressurized by the supply vents, likely causing a negative pressure wherever the return in located.
A is incorrect because this is highly unlikely to cause measurable positive pressure in the room above B is incorrect because without knowing whether it is supply or return ducting, we cannot know if or how it might influence the pressure in that room.
20. What is the main difference between the thermal boundary and the air barrier?

A. Insulation is present in the thermal boundary.

B. The air barrier is always in the attic.

C. The air barrier limits heat flow between inside and outside. 
A is correct because the thermal boundary, by definition, includes something that impedes heat transfer, i.e. insulation.

B is incorrect because the air barrier should encompass the entire building envelope, not just the attic; C is incorrect because although the air barrier reduces heat lost through convection, answer C as stated above is the defined purpose of the thermal boundary.
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